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PRACTICE PAPER (2021-22)
CLASS : XII
SUBJECT: BUSINESS STUDIES (054)
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GENERAL INSTRUCTIONS:
This question paper contains 3 sections.

AN S o

Section A has 24 questions. Attempt any 20 questions.
Section B has 24 questions. Attempt any 20 questions.
Section C has 12 questions. Attempt any 10 questions.
All questions carry equal marks.

AN

There i1s NO negative marking.
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SECTION-A

1. “U% =9 YdYF 98 © S O8N, TIATHEdl, Hoqdl I, B &Hdl
g Teayadd S i TRt | w21’

ST HoH § TaY i Fhid o i U T8 hi <dl T 22
(a) TSy U fa9™ o ®U H (b) TS Ueh hell o &I H

() TdY UF 35¥F Wi © d) T TH U9 & w9 H
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“A good manager works throgh a combination of practice, creativity,
imagination, initiative and innovation”.

Which aspect of the nature of management is highlighted in the above
statement?

(a) Management as a Science
(b) Management as an Art
(c) Management is an intangible price

(d) Management as a profession

‘gt geYe WAl 9T ST dled © del o9 oisd &1 Ui % foiw
Tt ed ¢ AAfehd AU smapienent i gul R & fAu uee yeue
&l qfgs ° Hiehd Td Fadiges Aafasgaon s & fau ur alkem s
g1 21’

ST Ui O g o Topd il Rl G TR TR @72

(a) A (b)  TferreRTom
(c) fram (d) ETSA

“All managers dream to succeed and strive to achieve their goals. But to turn
these dreams into reality managers need to work hard in thinking about the
future and making business predictions.”

Which function of management is highlighted from the above lines?
(a) Planning (b)  Staffing
(c) Controlling (d)  Organising

............ aE HE o 9 g T srevawa gfd & fau SR o geafed
IERIESIGIRS

(a) HiEd (b) S
(© (@ (b) T (d) i T
1s anything that can be offered in a market to satisfy a need.
(a)  Price (b)  Product
(c) Both (a) and (b) (d) None
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Yo 1 hH-91 &R fafy= dal § wkar wg fafa= faam & & o

qrised & foe e @2

(a) =9 WA J&Y (b) H WG g
(c) THAET wR d) (a)T (b) Tl

Which level of management is responsible for integrating diverse elements
and coordinating activities of different departments?

(a) Top level management (b) Middle level management

(c)  Supervisory level (d) Both ‘a’ and ‘b’

yaY o fhe f9gid o S8R - Y% HUAN &1 Th 999 | dad Th
g ARl 81 =@Te|

(a) T&91 &+ Thar (b) EHT

(c) THHARAI Tl JfaHa (d) TR hI Tehdll

According to which principle of management — there should be one and only
one boss for ever employee at a time.

(@)  Unity of direction (b) Equity
(c) Remuneration to employees  (d)  Unity of command

TR TE v, 2

(a) US Heh (b) SUS Heh
(c) 3R (d) 9MUE M
‘Bata’isa

(a) Brand (b)  Brand Mark
(c)  Product (d) Brand Name

qied =R oAt @1, Wit @ fee gesifas, gay 1 feard g+t o
T 21 SYU uferd o ger okt i &) faerear okl gwitan e 22

(a) WY TH GHfesh & 2l

(b) Yo Teh FReX = areit gfswan 2l

(c) e HeeATdl €1

(d) T TH AUl Ui B
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10.

The activities involved in managing an enterprise are common to all
organisations whether econome, social or political. Which characteristic of
management is highlighted in above mentioned line?

(a) Management is a group activity

(b) Management is a continuous process

(c) Management is all pervasive

(d) Management is a goal-oriented process

............ T fasl o 3TV U T 1 Ush 9 2Afer Guifad Ueshi 9 «1d<id
% ¥ H G HT Wifgs W&o uifed € -

(a) Tergmom (b) AfKITd feroh™
(c) SFEEh (d) foora FasH

involves oral presentation of message in the form of conversation with
one or more prospective customers for the purpose of making sales :

(a)  Advertising (b)  Personal selling

(c)  Public relations (d)  Sales promotion

al n n fa A . .
Uen Hlidlsld dHen d-lq dlcil enHq-l Tm'l [T 3ATY <hH "l HI3AIHh @Il

T ?

(a) HIRd @l (b) Toeh=iRa @i
(c) Taumia = (d) HTEHE I

Which type of organization structure would you suggest for a company
which deals in production of iodised salt only?

(a)  Centralised structure (b)  Decentralised structure

(c)  Divisional structure (d)  Functional structure

Ife @eal w1 ¥ w9 9 qRwfud feen e @ @ wHeiiEl w98 9
T ® % GeT H F R ® del Wed 9k e & fau 3%
T =BT

{1 oF e @& i 9 foag &l SWe dfed o gwifen @ @2
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11.

12.

(SR [Nl

(a) TrEE srffyeaa & Sifew o1 %9 & 2l

o

(b) TeE fdem & oFeren @i 2l

(c) Trarm fofa &9 1 ¥t 9. B

(d) TE s & ael @ fufor s 2l

If goals are well defined, employees are aware of what the organisation has
to do and what they must do to achieve those goals.

Which point of importance of planning is highlighted in the above
mentioned statement?

(a)  Planning reduces the risks of uncertainity

(b)  Planning provides direction

(c)  Planning facilities decision making

(d) Planning establishes standards for controlling

‘el w1 YR’ YeY o Wk a1 UfRAT K1 Tk WO B| Ya o
39 ®E &I 989N S|

(a) A (b) T
ORERIESERY d) fewm

“Assignment of duties” is a step in the process of one of the functions of
management. Identify the function of management.

(a) Planning (b)  Organising
(c) Staffing (d) Directing
‘e | fofa e fafed @17 @8 wem gwian € -

(a) e fafere wmg % fow 2

(b) Trasm gfas = fag 2

(c) THESH g6y & 8 &R W asg 2l

(d) T Fftea ®9 ¥ faft= fowcedl den feaetl 8 9 9aaw

foehed 1 T il 2l
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13.

14.

“Planning involves decision making”. This statement suggests that :
(a)  Plans are for a specific period

(b)  Planning is for future

(c) Planning is desirable on every level of management

(d) Planning essentially involves choice of best alternative from among
various alternatives and activities

TS & TAR TH HicAgal qo1 ITh! Y3adl Ud HAESEl 1 faweivo
HET qen I8 ol o fo fea e &1 @y 3eW & fau & fawan
WY, 98 fauor &1 Th mecyel w21 39 HE w Tedn Hifse-

o N

O ERELLERERIEE

(b) 3IARA w1 Hod Fuio
(c) Teswh HHAT Fard

(d) NR Fad YA AT HEAT A IHHT AT R

An important function of marketing is making an analysis of the available
opportunities and threats as well as strengths and weaknesses of the
organisation and help in deciding. What opportunities can best be pursued
by it. Identify this function :

(a)  Marketing planning

(b)  Pricing of the product

(c)  Customer support services

(d)  Gathering and analysing market information

“frSt & Td OrESIe & Ht gorTcas fHe b 9 W etefoewen &

SAHH a1’ SAEHIgs SIdieRul o R 3TEH 1 T dcd 27

(a) EMISTR ATATeR (b) TS STERY

(c) USHfdeh aTdTeR (d) Taferes ardeRo
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15.

16.

17.

“Existing structure of the economy in terms of relative role of private and
public sectors” is a major element of which of the following dimensions of
Business Environment?

(a)  Social environment (b)  Economic environment
(c)  Political environment (d) Legal environment
frafafed & @ ®F @ Fom T& 7?2

(a) Taqom W @S wiehan

(b) faqom wo foera wfeEm B

(c) TouuM Ul ®1 e dR W AT SAM higd S &
(d) Toauoom T, scag fag @ w1 2

Which of the following statement is incorrect?

(a) Marketing is a social process

(b)  Marketing and selling are synonyms

(c)  Marketing focuses its attention on consumers needs

(d) Marketing mix is a wider term than product mix.

SRS -2: U T BH e , 1 SF & 9 H Ug T M B
2l
(a) SUEINIC, STeraRId (b) AfIRR AT, faen=itaeho

(c) el ©E ®, Hhel I & (d) Eenfae, geem

Planning bridges the gap between ~ and
(a)  Responsibility, accountability

(b) Delegation decentralization

(c)  Where we are, where we want to go

(d)  Stability, security

foauH o 39 @ @1 qad Segell w1 qEuiRa faftredet & ogER
IQEA G 9 2
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18.

19.

(a) HeIsA (b)  HRIHIT

(c) e (d) <t

This function of marketing refers to producing gods according to pre-
determined specification.

(a) Promotion (b)  Standardisation

(c) Grading (d) Labelling

@ Wl Sied stafy § gfg U9 W W wH < % dey H wedt
SNl o HNU he L IQRT T§ 9dd, 99 - €EE hish, =a&
fEd @™ dd Td WRed Wd &1 A° 4 dfg g2 ¢ fawa | e
e IAE T ol 3 @l 1 St Srell 1 &1 a5 e g1

I dEC] &1 wHE & T =i afvfa 22
(a) STdRE Hay (b) Tifaeiier Yekfd
(c) AT (d) wifeer

“Increased life expectancy of people and increased awareness for health care
have increased the demand for many health products and services like soft
drinks, fat free cooking oil and health resorts. New health products and
services have, in turn, changed people’s life styles.”

Which feature of business environment is explained here?

(a) Inter-relatedness (b) Dynamic nature

(c)  Uncertainity (d) Complexity

Had o fohd gerg & fOgid o STfUR - 9l uRftufeal & sot &
fed, frdt ot safea = fedl w1 stfirshao 63T

(a) e 1 wha

(b) HHAE &l Fawa

(c) 9fesk feai o fou =afera feai 1 Fwd
(d) STRIT T Thdl
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20.

21.

According to which principle of management given by Fayol — the interests
of the company will supersede the interest of any one individual in all the
situations.

(@)  Unity of direction
(b) Remuneration of employees
(c)  Subordination of individual interest to general interest

(d)  Unity of command

‘e & far’ § aed © -

(a) T TR W FE @ 9 AfEed w1 q@n

(b) HEHUHRI I &

(c) Ifumee &1 = 9= U wHeasd g guEl @1 9 yefud fwe
S Hehell 2

(d) T8I & T H GEA

Span of management refers to:
(a)  No. of subordinates at lower level
(b)  Total no. of managers

(c) The number of subordinates that can be effectively managed by a
supervisor

(d) No. of levels in the management

............ STIYROT, STIEA b1 HST ERT o 3Tl @] Afed &t 2

(a) BAR (b) BAERA

(c) foopm (d) fouom
philosophy aims at profit through volume of production.

(a)  Product (b)  Production

(c) Selling (d) Marketing
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22.

23.

24,

“aifedl il W 9YRa W TR Afue ®, Wi Wi H T€ T H R gl
I KU HAETF TR ki fopg fagiedn =1 i 272

(a) ifeear (b)  gTHRT

(c) It Hepfa (d) el

“Demand for sarees is fairly high in India whereas it is almost non-existent
in France.”

This statement highlights which feature of Business Environment?
(a) Complexity (b) Relativity
(c)  Dynamic nature (d)  Uncertainity

“TAR T & wE I HE Hl TR W FHER 3gHd WK i ©

oI <&l B SR WX off 2 21"

FWR FUIq HeF H GSH oh Hed oh fag hi JgdM hitad|

(a) ARAdAl *T ST (b)  gHE YImEA

(c) Tfaferiaeor = w9 (d) foom @ fomr

“Repetitive performance of a particular task allows a worker to gain
experience in that area and leads to skillfulness.”

Identify the point of importance of organising in above mentioned statement.
(a)  Adaptation to change (b)  Effective administrative

(c) Benefits of specialisation (d)  Expansion and growth

“EAR 29 I GEEAl HI Tl % HedUl % U TR g S a4 SF
areft Y 61 70 9 3R @9 W 1 eAfuw et & T g1

TH UM § <9 W Yo & TEgid i 989 ShifeU
(a) |HA (b)  TgRIMEA
(c) oo (d) HIFW T TR
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25.

26.

“Panchayats in our country have been given more powers to decide and
spend funds granted to them by the government for the welfare of village.”

Identify the principle of management highlighted in this case.
(a) Equity (b) Discipline
(c)  Order (d) Centralisation & decentralisation

WAT- ( SECTION-B)

gfa @ fa. 7 v @R g il & foa e s fwa
ekl & T Gfesral & gfd wufisar A 29 IR TH SR gae
foram S=iv W f& 90% ReR wAfssal ST w9 R 9 WA 9
3Teh WE T e ael 99d & 9R § fafaad o

Tk AUl ST ki §T HRF I If0id 272
(a) oTfe® (b) Tkt
(c) HrHIfSTR (d) TSHfae

Sumit Agro Ltd. a new venture for distribution of chemicals fertilizers free
vegetables. The conducted a market survey to find out consumer preferences
for such vegetables. They found that 90% of the households were concerned
about the harmful chemicals being used in growing the vegetables and their
impact upon health.

The factor constituting the business environment being discussed above is:
(a) Economic (b)  Technological
(c)  Social (d) Political

s gferan o -9 =101, Yo w9 3eed uiftd & fafy= afent
T 9gEH’’, & STH TRM?

(a) Sl AR S (b) Tomcdl 1 geaind

(c) =T Ay (d) TH fasheq A

Which step in the process of planning will follow, “The identification of
many ways to act and achieve objectives”.
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27.

28.

(a) Implementing the plan
(b)  Evaluation of alternatives
(c)  Setting objectives

(d)  Selecting an alternative

“Igh ITh IR kT I R HH o =FaaE & fau Aerme fama
T Yedd &l e @ T 21

T Fud § ffed fouum gery &1 STauRen & yg=ng|
(a) SCURA STAHRUN (b) SUR TR
(c) Taera sAaymrom (d) faquE SHeuRON

“Firms must undertake aggressive selling and promotional efforts to make
customers buy their products.”
Identify the marketing management concept in above statement.

(a)  Production concept (b)  Product concept

(c)  Selling concept (d)  Marketing concept

qrefd SN BiE SR IR & IY W AT T Hifch IE GUH TIST o
S U2t &1 agdt Simdl T foene IR qeg ot & qEiener o sidt
THR 1 STETIHAT k! TgaH feram em

Ik AER0] oF Ha oh fovg i Gy

(a) SYANT Tl 1 <eA

(b) @ ¥ B W IRadAl a1 dEl

(c) FOEIN/ATHI H! Te6d™ &l U8 U8 i & AT
(d) foaRe o gur

Maruti Udyog became the leader in the small car market because it was the
first to recognise the need for small cars in an environment of rising
petroleum prices and a large middle class population in India.
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29.

30.

Identify the point of importance of business environment highlighted in the
above example.

(a) Tapping useful resources

(b)  Coping with rapid changes

(c) Identify the opportunities and getting the first mover advantage

(d) Improvement in performance

dier fa. $-9aa wEwH #) Aeg @ fruml & g faque et @
TN 1 gH W@ 2 g8 UHU 9Rd § fedl fofhd e 1 ueEm
e Sl gEAl-dahle i sEeY § e 9RdE fRam & 1
wifaeier foarg i o1 feon 2, 9 99 @ fofea 9= fan @ 9o =
T wfe I=H & R

g ST AT 329 ITH W H gfvlg 272

(a) HISAIHS 3593 (b) HMEISh 3T
(c) THHIRAT el 339 (d) ST H 9 HE TR

Beta Ltd. in rural India is explaining farmers to use direct marketing
methods with the help of e-chaupal programme. It is the single intervention
by a corporate entity in rural India, transforming the Indian-farmer into a
progressive knowledge-seeking citizen, enriching him with knowledge and
elevating into a new order of empowerment.

Which management objective is discussed in above para?
(a)  Organisational objective (b)  Social objective

(c)  Personal objective (d)  None of the above

STURTA § A ®H T ondl ! Afeay ST dRd © odl I8 o
IR Bl oo hIHd G hi|

(a)  3fErchaH (b) =IdH
(c) =H (d) =
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31.

32.

If a firm decides to maximise profits in the short run, it would tend to charge
price for its products.

(a) maximum (b) minimum

() low (d) high

“UE IYE ® FE B Tk b= 65 UG HL € a1 I8 gHAREd T ©
for foee Ao wa fAuiRa #eded & oTar @il

gaaa &1 forg fagioar &1 ==l <ot T 22

(a) HH=T THEF wEl H ThcHhdl @l 2l

(b) =T HEGE! | Thdl @ 2l

(c) HH=E R <o ol gferan 21

(d) HHoE Heeardt w1 2

“It gives a common focus to group efforts to ensure that performance is as it
was planned and scheduled.”

Which feature of coordination is highlighted here?
(a)  Coordination integrates group efforts
(b)  Coordination ensures unity of action
(c) Coordination is a continuous process

(d) Coordination is an all pervasive function

fr=fafad | oAl o faq Sugea fased @1 =9 hifeg)

FU 1 : Th I=AMYSN fUeER fald # Tl ¢l

HYF 2 : gRomH & fau S=Efusil SdeRe 8l g
fashey -

(a) HoF 1 FE ? W 2 o 2

(b) YT 2 TWE B R 1 T €

(c) TFl wed w2

(d) <TEI e T B
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33.

34.

For the following two statements choose the correct option.
Statement I : A superior can delegate authority.

Statement II : Superior will not be accountable for outcome.
Options :

(a)  Statement I is correct and II is wrong

(b)  Statement II is correct and I is wrong

(c)  Both the statements are correct

(d) Both the statements are incorrect

Fih! o, § HHeriEl 1 qeRel IR-9R Bidl ®dl ¢ I8 Y9 & 6|
fagid =1 sredl & W 872

(a) HHdAT
(b) HHARA 1 TRATHE
(c) THHANE o HEH H Tfad

(d) U=sd

In Coco Ltd. employees are transferred frequently; which principle of
management is being over-looked here?

(a) Equity (b) Remuneration of employees
(c)  Stability of tenure (d) Initiative

.......... U GEA © T oidld yeue den gdied Geet ol oh

froqred T T 2
(a) ETH (b) TrH
(c) HTSA Bl (d) HTH

is the framework within which managerial and operational tasks are
performed.
(a)  Organisation (b)  Planning

(c)  Organisation structure (d) Management
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35.

36.

37.

o -
(a) Fee 1 fergior © (b) FeH 1 ST ®
(c) UsY & 91 & (d) ST H 9 wE &

Coordination is :

(a)  Characteristic of management
(b)  Objective of management

(c)  The essence of management
(d)  None of the above

fosh! & JAIJHM % STJER B T HAEEae 6H 3T Icared qen fasra
ASATE TR St 2

SqUe dferd o oA o1 TR fawivar 1 Ieaifaa foean T 22
(a) T o fofg w ffeq 21 (b))  FEsm afosrad )

(c) framm etfawa 2l (d) fraeH gdeardt 2

Sales forecasting is the basis on which a business firm prepares its annual
plan for production and sales.

Which feature of planning is being referred to in the above statement.
(a)  Planning involves decision-making

(b)  Planning is futuristic

(c)  Planning is continuous

(d)  Planning is pervasive

Gl Toh o€ HRUNE B3 | SR Yoieleh 81 3@ I8 T ESMl hl qA
HTE T B

(a) T foumt o foq wafa A | &Henal i gHk=d s

(b)  ICUEA oKt T[UTET AT &

(c) W& Wi B sl <A L&l
(d) fafy= foumm ¥ s wenfud S
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38.

39.

Sanjana is working as production manager in a big corporate house. What
would be Sanjana’s main task on this post?

(a) To ensure that her department has necessary personnel
(b) To maintain quality of output
(c) To minimize wastage of materials

(d)  To establish coordination among different departments

.................. U afqu 9ed g U9 9UWUT & SEYAl Rl WK i &
forw |t gerda deRieR] w1 oA 98T &3 9 =)

(a) Tergom a0 (b) 3JAR
(c) HesA (d) wadq fag

refers to combination of promotional tools used by an organisation to
achieve its communication objectives.

(a) Marketing mix (b)  Product

(c)  Promotion (d) Promotion mix

SN B | o4 T &) &9 § 2 STei-ofal &1 &l 2l feel f&
at 98 9fasr H yeeit 1 A S WA Eg o @ 9 g R
o€ U 1 THENS 1 o= § o Bl 8

oY H HRE-E fogivar ==t <ha 82

(a) YoYU Th RO =M orell gfeman 2l

(b) Weu TH HHfeswk fomam 2
(c) e wg3Em Bl
(d) vEY FEeA Bl

At Opera House, Aman performs several different tasks in a single day.
Some days, he may spend more time in planning a future exhibition and on
another day, he may spend time in sorting out an employee’s problem.

Which characteristic of management is pointed here?
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40.

41.

(a) Management is a continuous process
(b) Management is a group activity

(c) Management is multi-dimensional
(d) Management is pervasive

TeY w1 e YEH i % U e HWeUEl i T @ TE @1 S -
Rd H YRAE oY G| 39 LA H YovT IR0l Jo9 T0eT
weH | Bl e

S aftfa W A g U9 w ST faviuar 1 AW ARy, SogE qU e
<h {dT|

(a)  SASATYd JelwT
(b) et wifa aRkenfad 9@ =1 e
(c) TR qReR
(d) Hda1 =1 3=

Some institutions have been set up with the purpose of providing
management education such as India Institutes of Management in India.
Entry to different institutes is usually through an entrance examination.

Identify the characteristic of the profession being discussed above which is
not strictly met by management.

(a)  Restricted entry

(b) Well defined body of knowledge
(c)  Professional association

(d)  Service motive

“freH T T TR 2, T AN SR &% W18, O] i el @l
sud faaem & &1 IfusR T 8t gan’’

ERISERCIR I fE Al e

(a) fraeH o 9t o e ?

o Y

(b) TS AT &1 ®H T 2

(c) TEeH e Sca= i R
(d) THESH w5 T w8 ol i 2l
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42.

43.

Planning is such a process, in which, once plans are made, implementers are

not allowed/authorised to deviate from them.

Identify the limitation of planning.

(a)
(b)

oooooooo

(a)
(c)

Planning involves huge costs
Planning reduces creativity
Planning leads to rigidity

Planning is a time consuming process.

. ] I279 Y, THEAT, SRR T STATET ol HHT AT Bl 2

TR0 (b) I FAFIA

AR (d) oM 3L

aims to eliminating superfluous varieties, sizes and dimensions.
Standardisation (b) Time study
Simplification (d) Fatigue study

fr=fafaa g werl o fau &t oy &1 == =

FHYT 1 ; FFE R T TYTT H T €Y 2

HUF 2 ; A foehd o el giaqfe 1 w8 2

IEEIS I

(a) U 1 W&l ® R 2 o @
(b) H¥F 2 WL T W | e =
(c) TFl wed EEl B

(d) <Al wUA e B

For the following two statements, choose the correct option.

Statement I : Personal selling is the direct form of communication.

Statement II : Personal selling lacks direct feedback.

Options:
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45.

(a)  Statement I is correct and II is wrong.

(b)  Statement II is correct and I is wrong.

(c) Both the statements are correct

(d)  Both the statements are incorrect

o fot. TU-T ISR & 1EER U Y W 7 SR IS Turem i aeget
1 IR F G T

oo

e o1 frefafad dec o1 fog 39 weq § ISR e ¢ -

(a) T &l § gfg i B

(b) &Y Tiqeiiel HTe &1 0 w5
(c) &Y TS oF foRtd § W™ Bl 2l
(d) ST ° 9 & 7

Zipro Ltd. is creating new employment opportunities and producing best
quality products.

The following point of importance of management is highlighted above:
(a) Management increases efficiency

(b) Management creates a dynamic organisation

(c) Management helps in the development of society

(d) None of the above

“faeRt H 2021-22 H 20% HI ghg HEN ST IR0 W IIMT Y

o

frae 9feran o =ROT sl gg=nHu)

(a) Tomcdl w1 goaied (b) 3T w1 TR

(c) ToarmeEiter 3TaR (d) ST I AN R

“To increase sales by 20% in 2021-22” Identify the step in the planning
process.

(a)  Evaluating alternatives (b)  Setting objectives

(c) Developing premises (d) Implementing the plan
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47.

48.

s e & o1, e &1 e, ... g TS AT ol 3
....... F F@ 2

(a) AR, e (b) HTAHH Fcleh, ISR
(c) TIfaHES, AT A (d) ST H 9 & T8l
Instruction Card clerk, time and cost clerk and a work under

planning incharge.
(a)  Disciplinarian, inspector (b)  Route clerk, disciplinarian
(c)  Speed boss, repair boss (d)  None of the above

frefafad 4 @ s g T SR &1 SYAINl i S@ET ST Gehdl ©
e oS H 29 3R s1fyer yfaanll s=mn S gekdr 22

(a) JHETITRIO (b) wfeT
(c) @&y (d) HasA

Out of the following, what can improve performance of a product and also
give it a competitive advantage in the market?

(a)  Standardisation (b) Branding
(c) Design (d)  Promotion
e (T) : T e & gl w1 Ui s 2

o o

HROT (3R) : TS 9 OF® SUaTs &aal ¢, - arias s
e S € qe godihd fey W 2

(@) (W) R (W) I W 2

(b) (T) W 2 3R (W) e T

© (T 3R (W) I TEF 7 3R (W), (V) *T ¥t = 2

(d) (T R (W) A T 2, W (3MN), (T) 1 F& =amen T 2l

Assertion (A) : Planning establishes standards for controlling.
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Reason (R) : Planning provides the standards against which the actual
performance can be measured and evaluated.

(a) Both (A) and (R) are correct
(b)  (A)is correct (R) is incorrect
(c) Both (A) and (R) are correct, and (R) is the correct explanation of (A)

(d) Both (A) and (R) are correct, and (R) is not the correct explanation
of (A)

SECTION-C

o o

U9 G&T 49-54 o IR EfeEd R o STER | 2|

Hiadl o8 @S foh ‘Be) foeq’ M & T WU 1 Yoy Ry off|
T Sk YRR U T @ AT qq1 hE ki AR -+ qen Temet
w9 9 9¢ @l offl *fad &5 90 & @I T 99 1 WAt e &
ST T I WA W 3H TR H1 A W@ @ierr o

g fafEa e & T b dEes % U 9 Yees o ®9 o
e fhar qen S ot Wg wi dWisTl & ofwid, o STfiTRei Wi
3MRYT <A qN HAE HH FT BRI G TR * gEwe d9e &
L SO S STERTshalsll & STEY wuAAl @i Ffaa Ta gidnero &1
AR At fem|

Hfaa g, e T & @ 9 G ot iR 39 YHR 98 N 3R
FEAR T off 39 T $I AT A bl

Kavita Ghai was the managing director of a restaurant in Lucknow called
‘Healthy Kitchen’. The restaurant was doing well and the volume of work
started increasing slowly and stedily. Kavita Ghai was not able to manage all
the work on her own. The increasing magnitude of work made it impractical
for her to handle it all by herself. Moreover her objective was to open more
branches of this restaurant at different places.

She appointed Nikhil Gupta, as a general manager of ‘Healthy Kitchen’,
Lucknow and gave him the right to command his subordinates and to take
action within the scope of this position. For smooth running of the
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49.

50.

51.

restaurant, she also gave him authority to hire and train the staff as per the
requirements.

Kavita Ghai was satisfied with the work of Nikhil Gupta and was able to
open other branches of the restaurant in Agra and Kanpur also.

Higal U5 gRI STUATE e T hi ST AIYRON ki Ugar-u 59 dgd
39+ e e &t fafv= stfyer fRw?

(a) SAMRIRR TR O IREEEARETY
(c) o faumm (d) g 1 fawr

Identify the concept of management adopted by Kavita Ghai, under which
she provided different rights to Nikhil Gupta.

(a) Delegation of authority (b)  Decentralisation

(c)  Division of work (d)  Span of management

Higdl U8 7 Yol i 39 AAYURON hi A T2
(a) FIYY Sl Y o AT

(b) 3T HEYR &H & & faU

(c) I o fawr & fau

(d) b AR ‘¢’ A

Why did Kavita Ghai adopt this concept of management?

(a)  To faster the communication

(b) To reduce her work load

(c)  For expansion of organization

(d) Both ‘b’ and ‘¢’

TH IR ¥ el i A qen ArEl 1 ¢Rghd W Ak o ©,
(iar: g g 2

(a) U (b) FH=H

(c) T&am (d) SWF H 9 HE Tl
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53.

54.

This concept avoids overlapping of duties and stops duplication of efforts,
which makes possible.

(a) Management (b)  Coordination

(c) Cooperation (d)  None of the above
SU dfm B W H ¥ Sgad wifve, Y 3@ cmuren & faw &
TRATHTOT T Tl e 2

(a) higal ¥3 FiEd Ta1 & & 9 g o
(b) Trgfer gfereror w1 sAfurer ot fe=m
(c) higal &5 9 %W W -2l 99 11 W&l o

(d) 39 YhR 98 PN R HHR § ot 30 W &1 @ @i Hehl|
Quote the line from the para, which shows role of this concept in
“Facilitation of Growth”.

(a) Kavita Ghai was satisfied with the work of Nikhil Gupta

(b)  authority to hire and train the staff

(c) impractical for her to handle it all by herself

(d)  was able to open branches of restaurant in Agra and Kanpur also

il 4§ o 39 FeR § fAfEa e &1 F= e gaa?

(a) S 9% fHem (b) Fau® & ®Y H faw™

(c) s AfuwR foat (d) ST ° 9 i =&

How did Nikhil Gupta get benefit from this practice of Kavita Ghai?

(@)  Got high post (b) Development as a manager

(c)  Got many rights (d)  None of the above

Hfad U8 g AT T 39 FAeR &l 9gd 9 T Yoy oy off u8u
F €| THY T =l € R 98 STEHRm ........ 2l

(a) dehfcqeh (by  AfFard

(c) Ydfed (d) 3SWF d 9 HE T&
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56.

Practice adopted by Kavita Ghai is used by many other managing directors
too. It shows that this concept is

(a) optional (b)  compulsory
(c) trendy (d)  none of the above

feoell B &1 7 W *1E o9 & IH 2| 39 Gaur & dgd UE,
AT i G, A R 4 = W & fau ot Sfae wd/ehfee o
1 2 dfhT A TEATH w1 TN A F fAU F Thd § SR s wed
2fusq 1 3@ off Thd 2|

SR afvig o T 3T HEET T IdeR0l o ST i Ig=fg)|

(a) EMEISTh HTATeR0] (b)  deh+Ieh! ATATERUT

(c) TSHTdeh aTaTeRo (d) el aramerm

The new smart card of Delhi Metro has been launched. Under this facility,
the users can view all the top ups done as they transact and can use their
debit card/credit card or net banking or Paytm to pay online for an instant
recharge.

Identify the dimension of business environment highlihted in above case.

(a)  Social environment (b)  Technological environment
(c)  Political environment (d)  Economic environment
MM & wiie H gl 9™ & ufqdl & 6 SarqEl § 9 TR g S
S 2, 99 TR # 9R ° 7 YR 1 9 U d9UR @ S @1 9 %
Al % R H AUR W SR ST-3A 9 § el Sl € R 9@
G I T o &Y H o9 Sl gl AEH A Wi ¥ fRu 9 o 9
fauuE & & Wi gg=nu

(a) YHTHERIOT (b) ST

o

(c) SR & ®Uh Wd fovm  (d) oo =M

At Assam Tea Plant, dried tea leaves are filtered through 6 filters and
instantly 7 types of tea are produced simultaneously. As per the size of tea
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58.

granules, tea is classified and sold. Under seven different categories of tea.
Identify the marketing function performed at Assam Tea Plant.

(a)  Standardisation (b) Grading
(c)  Product designing & development(d)  Marketing Planning

g . UEwl & Aeftd w@ & fau e W' U o @RI 39
Yo § T & WY 3 9 U, O, fies ol fysE W Suesy &9
@l 2l

g fa. =F 9 fouom fag & q &1 WE S &H 2 Wl R?

(a) AR (b) M
(c) HH (d) ‘@ d ‘T

For attracting the customers, Drump Ltd. is making “Good Meal” pack. Cold
beverage, burger, pizza and sweet dish, all are collectively available in this
pack.

On which element of marketing mix, Drump Ltd. is heeding to?

(a)  Product (b) Place

(c)  Price (d) Both ‘a’ and ‘¢’

ARS fa. & Weruehl 4 faoioel @1 Aeg 9@ ot e % faw g eIk
fgdiaes AT aF1E, g S foharae & fauq wrafea erefieed =i
few T& fou fSae @R st o1 JeEd fase '@ TR

frae &1 forg i 1 3R Soor@ e T @2
(a) TraEeH o 9t e e ?

(b) THESH TH T w ool iR Bl

o Y

(c) THESH Sherd 1 everad &l 2l

(d) SWF H 9 HE Tl
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With the help of experts, managers of Arjoo Ltd. got prepared main and
subsidiary plans, but did not provide instructions to subordinates about their
implementation. Due to it, well prepared plans failed.

Which limitation of planning is discussed above?
(a)  Planning involves huge costs.

(b) Planning is time consuming.

(c)  Planning does not guarantee success.

(d)  None of the above.

Siett fet. o fgera Sieft 1 geier g1 ©1 YU o gtk & o o ot
fow @ gan e A sSde FW © A o9 e faedl o od @
dfehd JaY o1 FeHYfd I & & fau 9mma s 9 o sifye &
# R

SR TeY % A § Tagid &1 Afie qe W © 22

(a) Togm wgfd 7 fo, o7& 2 faH

(b) TEAM A fh T

(c) weam 7 T AfwFaR

(d) STH H 9 5 &l

In Jojo Ltd. paternalistic style of management is in practice. There is
complete openness between management and workers. It at all workers go to
strike they wear a black badge but work more than working hours to gain the
sympathy of the management.

Which principle of scientific management, is being adhered to by the
workers?

(a)  Science, not rule of thumb (b) Harmony, not discord

(c)  Cooperation, not individualism (d)  None of the above
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Th3 A ®WH T Th 8 9 H g 9§ W HH Hhd & foau
FEE 81 W THY I g oaqq K o W@ R y&y & fRw fagia
1 T8 AR i S @I 87

(a) HIUE g@en (b) wH=IRE 1 afisfie
(c) |H (d) ST ° 9 i =&

Rakesh and Raheem are employed in the same company on same positions
and performing similar functions. But Rakesh is getting more salary. Which
principle of management is being violated here?

(a)  Scalar chain (b) Remuneration of employees

(c) Equity (d)  None of the above

28 XII-BUSINESS STUDIES



